
Algebra 1 Midterm Review   White 1: Wednesday, December 14th 
      White 3: Friday, December 16th  
 
Name:        Date:    Block:    
 

1) Solve the equation. 
 

  5(r  1) = 2(r  4)  6 
 
 
 
 
 
 
 
 

2) Solve the equation. 
 
   2y + 3 = 3(y + 7) 
 

3) Paula always withdraws 20 dollars more than she needs from the bank. 
a) Write an expression for the amount of money Paula withdraws if she needs d dollars. 
 
 
 

b) Find the amount of money Paula withdraws if she needs 20, 60, and 75 dollars. 
 
 
 

4) Solve the inequality. Then explain how the solution to an inequality is different than an equation. 
 

   10  2 (3x + 4)  11 
 
 
 
 
 
 
 
 

5) Solve the inequality and graph the solutions. 
 

  5  12a  (3  4a) 
 
 
 
 
 
 
 
 
 

 
 
 
 

6) Graph the line with a slope  
 

2

3
;  and y-intercept  2. 

 

 
 
 
 
 
 



7a) Binh brought $23 with her to the county fair. She 
purchased a $5 T-shirt and now wants to buy some locally 
grown plants for $2.50 each. What are the numbers of 
plants that she can purchase with her remaining money? 
 
 
 
 
 
 
 
 
 

7b) A moving company charges $800 plus $16 per hour. 
Another moving company charges $720 plus $21 per hour. 
How long is a job that costs the same no matter which 
company is used? 
 
 
 
 
 
 
 
 
 
 

8) Give the domain and range of each relation. Tell 
whether the relation is a function. Explain. 
 
 

9) For her book club, Sharon reads for 45 minutes each 
day. Write an expression for the number of minutes she 
reads in d days. 
 
 
 
 
 
 
 
 

10) Give the domain and range of each relation. Tell whether the relation is a function. Explain. 
 
 
 
 
 
 
 
 
 
 

11) Choose the graph that best 
represents each situation. 
        
 
 
 
 
 
  
 
1. A tomato plant grows taller at a steady pace. 
   
2. A tomato plant grows quickly at first, remains a constant 
height during a dry spell, then grows at a steady pace.   
 
3. A tomato plant grows at a slow pace, then grows rapidly 
with more sun and water. 

12)  
 

 
 
 
 

BLANK 
 



13) Write each equation in slope-intercept form. 
 

2y  3x  4 
 
 
 
 
 
 
 

14) Evaluate each function for the given input values.  
 

For f(x)  5x  1, find f(x) when x  2 and when x  3. 
 
 
 
 
 
 

15) Tell whether each function is linear. Explain. 
 

a) 2y  3x 

2   b) y  4x  7 
 

16) Write the equation that describes the line in slope-
intercept form. 
 

  slope = 4; (1, 3) is on the line 
 
 
 
 
 
 
 
 
 

17) The table shows Gabe’s height on his birthday for five years.  
 

Age 9 11 12 13 15 

Height (in.) 58 59.5 61.5 65 69 

  
a) Find the rate of change during each time interval. 
 
 
 
 
b) When did the greatest rate of change occur? 
 
 
 
 
 

18) Graph the system. 
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19) Solve the system by substitution. 
 

   3   1 

   5    3

y x

y x

 

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20) Graph the system. 
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21) Solve the system by elimination. 
 

  

3x  y  26

2x  y  19



  

 

 

 

 

 
 

22) Add or subtract. 
 

(11b2  3b  1)  (2b2  2b  8) 
  

23) Simplify. 
 

  

3 4

0

m n

p



 

 
 
 

24) Simplify. 
 

    
y9z123  

 
 
 
 

25a) Gary is building a square table for a kitchen. In his 
initial sketch, each side measured x feet. After rearranging 
some furniture, he realized he would have to add one foot 
to the length and remove one foot from the width and 
have a rectangular table instead. Write a polynomial to 
represent the area of the rectangular table. 
 
 
 
 
 
 
 
 
 
 
 

25b) A bedroom has a length of x  3 feet and a width 

 of x  1 feet. Write a polynomial to express the area of the 

bedroom. Then calculate the area if x  10. 

 


